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e Question No.1

Which element is a part of cytochrome oxidase?

Options:

1. Mg

2.Fe

3. Mo

4. All of these

5.

Answer : Fe

Direction:

Poultry industry is one of the largest and fastest growing livestock production systems in the world. What is the

drawback of poultry manure?

e Question No. 2

Poultry industry is one of the largest and fastest growing livestock production systems in the world. The

approximate nitrogen content in Poultry manure is

Options:

1.3-5%
2.0.25%
3.10%
4.15%

5.

Answer : 3-5%

e Question No. 3

In an average well decomposed FYM (Farmyard manure) contains
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Options:

1.0.5% N2
2.0.2% P205
3.0.5% K20
4. All of these

5.

Answer : All of these

e Question No. 4

Trench method of FYM preparation is also known as

Options:

1. Pit method

2.Dr. C. N. Acharya method
3. Heap method

4. All of these

5.

Answer : Dr. C. N. Acharya method

e Question No. 5

Which of the following contains highest nutrients?

Options:

1. FYM

2. Compost

3. Droppings of sheep & goa
4. All of these

5.

Answer : Droppings of sheep &amp; goa
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e Question No. 6

Microorganism involve in conversion from nitrite to nitrate

Options:

1. Nitrosomonas
2. Nitrobactor
3. Pseudomonas
4. Bacillus

5.

Answer : Nitrobactor

e Question No.7

Hydrogen bond found in which clay mineral

Options:

1. Kaolinite

2. Montmorillonite
3. Vermiculite

4. Beidelite

5.

Answer : Kaolinite

e Question No. 8

In Munshell colour chart hue 10 represents as

Options:

1.Red
2. Black

3. Grey
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4. Yellow

5.

Answer : Yellow

e Question No.9

Which plant is used for indication of permanent wilting point?

Options:

1. Safflower

2. Sunflower

3. Marigold

4. None of the above

5.

Answer : Sunflower

e Question No.10

Which organic fraction not soluble in both acid and alkali

Options:

1. Fulvic

2. Humin

3. Humic

4. All of these

5.

Answer : Humin

e Question No. M

Soil colloidal particle shows the phenomena
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Options:

1. Plasticity

2. Adhesion and cohesion
3. Flocculation

4. All of these

5.

Answer : All of these

e Question No. 12

The phenomenon slickenside found in which soil

Options:

1. Inceptisol
2. Vertisol
3. Gelisol

4. Spodosol

5.

Answer : Vertisol

e Question No.13

Phosphorus uptake in alkali soil is in the form of

Options:

1. FePO4.2H20
2. AIPO4.2H20
3. HPO42-

4. H3PO4

5.

Answer : HPO42-
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e Question No. 14

Thiourea is type of fertilizer

Options:

1. Slow release

2. Nitrification inhibitors

3. Natural nitrification inhibitors
4. Artificial nitrification inhibitors

5.

Answer : Artificial nitrification inhibitors

e Question No.15

Actinomycetes prefer which condition for their growth

Options:

1. Neutral to Slightly alkaline
2. Alkali

3. Acidic

4. Slightly acidic

5.

Answer : Neutral to Slightly alkaline

e Question No. 16

Apatite is a group of minerals which mainly contains___

Options:

1. Sulphur
2. Nitrogen

3. Phosphorus
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4. Titanium

5.

Answer : Phosphorus

e Question No. 17

Quantity of soil to be taken for texture analysis

Options:

1.109

2.209
3.30g
4. 409

5.

Answer : 209

e Question No.18

The smallest 3-D volume of soil needed to give full representation of horizontal variability of soil is termed as__

Options:

1. Solum
2. Pedon
3. Gleys
4. Podsol

5.

Answer : Pedon

e Question No.19

Deficiency of which element in soil cause chlorosis in plant
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Options:

1. Iron

2. Magnesium
3. Carbon

4. Sodium

5.

Answer : Iron

e Question No. 20

Which of the following are critical elements

Options:

1N,P, K
2.C,N,H
3.7Zn,Fe,Cu
4.Cl, Fe,H

5.

Answer: N, P, K

e Question No. 21

High water use efficiency

Options:

1. Flood irrigation
2. Sprinkler

3. Drip

4. All of above

5.

Answer : Drip
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e Question No. 22

The planning commission divided the country in how many agroclimatic zones

Options:

1.15
2.20
3.8

4.24

Answer : 15

e Question No. 23

Formation of soil is called

Options:

1. Humification
2. Pedogenesis
3. Sedimentation
4. None of these

5.

Answer : Pedogenesis

e Question No. 24

Soya sauce is fermented product of

Options:

1. Barley
2. Wheat

3. Oat
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4. Soyabean

5.

Answer : Soyabean

e Question No. 25

Tea is example of fermentation of

Options:

1. Alcoholic

2. Non-alcoholic
3. Acetic

4. None of above

5.

Answer : None of above

e Question No. 26

Among the following which crop is grown in hot and humid area of India?

Options:

1. Mustard

2. Cotton

3. Pepper

4. Virgina tobacco

5.

Answer : Pepper

e Question No. 27

The first wheat variety having short plant height, lodging resistance and higher grain yield was
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Options:

1. Sonara 64

2. Lermaroja 64-A
3. Norin-10

4. None of these

5.

Answer : Norin-10

e Question No. 28

Which Indian state produces large quantity of pulses?

Options:

1. Maharashtra

2. Uttar Pradesh

3. Madhya Pradesh
4. Rajasthan

5.

Answer : Rajasthan

e Question No. 29

The transfer of mineral from top soil to sub soil through soil water is called?

Options:

1. Percolation
2. Conduction
3. Leaching

4. Transpiration

5.

Answer : Leaching
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e Question No. 30

Under which climatic conditions do the laeterite soils develop

Options:

1. Wet tropical climate

2. Hot and dry climate

3. Cold temperature climate
4. Mediterranean type climate

5.

Answer : Wet tropical climate

e Question No. 31

Milk proteins are rich in

Options:

1. Cysteine

2. Methionine
3. Lysine

4. All the above

5.

Answer : Lysine

e Question No. 32

Eugenol is important ingredient of oil of

Options:

1. Olive
2.Clove

3. Nutmeg
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4. Cumin

5.

Answer : Clove

e Question No. 33

Which one of the following acid is present in rancid butter

Options:

1. Propenoic acid
2. Pentanoic acid
3. n-butyric acid
4. caprotic acid

5.

Answer : n-butyric acid

e Question No. 34

Diacetyl is present in

Options:

1. Cultured butter
2. Sour cream

3. Butter milk

4. All of above

5.

Answer : All of above

e Question No. 35

In dairy industry the most often used bacteria to convert milk sugar to lactic acid are
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Options:

1. Streptococcus
2. Lactobacillus
3. Acetobactor
4.Bothaandb

5.

Answer : Bothaand b

e Question No. 36

The enzyme that destroy vitaminB1 is

Options:

1. Oxalate

2. Phenolase

3. Thiamenase

4. None of above

5.

Answer : Thiamenase

e Question No. 37

Fermentation industries include

Options:

1. Baking

2. Brewing

3. Wine making
4. All the above

5.

Answer : All the above
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e Question No. 38

Egg quality is determined by

Options:

1. Albumin

2. Yolk

3. Germspot

4. All the above

5.

Answer : All the above

e Question No. 39

Agar is extract from

Options:

1. Fungi

2. Algae

3. Bacteria

4. None of above

5.

Answer : Algae

e Question No. 40

The food color measurement can be obtained by

Options:

1. Spectrophotometer
2. Tint meter

3. Disc colorimeter
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4. All of above

5.

Answer : All of above

e Question No. 41

The recommended daily intake of protein per kg by WHO for individual is

Options:

1.0.25gm
2.0.49gm
3.0.59gm
4. None of above

5.

Answer : 0.59gm

e Question No. 42

Which one of the following is synthetic flavour

Options:

1. Esters

2. Ketones

3. Aldehyde

4. All of above

5.

Answer : All of above

e Question No. 43

Fat contribute about calories per gram
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Options:

1.9
2.10
3.8
4.7

5.

Answer: 9

e Question No. 44

Where is central food technology research institute situated?

Options:

1. Lucknow
2. Mysore
3. Karnal

4. Banglore

5.

Answer : Mysore

e Question No. 45

Which provide energy very slowly

Options:

1. Carbohydrates
2. Fats

3. Protein

4. Fibres

5.

Answer : Fats
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e Question No. 46

Which chemical is used for de-greening of fruit?

Options:

1. IBA

2. Cytokinin

3. Gibberellic Acid
4. Ethylene

5.

Answer : Ethylene

e Question No. 47

Most abundant and basic Auxin is

Options:

1 1AA
2.NAA
3.1BA
4.2-4D

5.

Answer : IAA

e Question No. 48

HQ of International Society for Horticulture Science (ISHS) is at

Options:

1. USA
2. Belgium

3. France
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4. Brazil

5.

Answer : Belgium

e Question No. 49

India is known as home of

Options:

1. Vegetables

2. Spices and Medicinal
3. Fruits

4. Flowers

5.

Answer : Spices and Medicinal

e Question No. 50
Journal “Indian Horticulture” is published by _________

Options:

1 1IHR
2.1ARI
3.1CAR
4.1GKV

5.

Answer : ICAR

e Question No. 51

High Water Use Efficiency (WUE)
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Options:

1. Flood irrigation
2. Sprinkler

3. Drip

4. All of the above

5.

Answer : Drip

e Question No. 52

Portray are related to

Options:

1. Post harvest
2. Nursery

3. Processing
4. Transport

5.

Answer : Nursery

e Question No. 53

Disease free plants in micro propagation can be obtained through

Options:

1. Meristem culture
2. Anther culture

3. Embryo culture
4. Cell culture

5.

Answer : Meristem culture
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e Question No. 54

Which test is used for testing the significance of mean differences?

Options:

1. t-test
2. f-test
3. z-test
4. k2-test

5.

Answer : t-test

e Question No. 55

Which of the following chemical is used for polyploidy breeding?

Options:

1. MH

2.CCC
3.NAA

4. Colchicine

5.

Answer : Colchicine

e Question No. 56

Detrimental effect of host plant on the biology of insect is known as

Options:

1. Non preference
2. Tolerance

3. Antibiosis
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4. Resistance

5.

Answer : Antibiosis

e Question No. 57

Which of the following is an antifungal and an antibiotic?

Options:

1. Pimarcin
2. Subtilin
3. Nisin

4. Zeatin

5.

Answer : Pimarcin

e Question No. 58

Making an incision below a bud to retard its growth is called ?

Options:

1. Nicking
2. Ringing
3. Notching
4. Thinning
5.

Answer : Nicking

e Question No. 59

“Queen of Fruits” is called
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Options:

1. Avocado

2. Mango

3. Mangosteen
4. Ber

5.

Answer : Mangosteen

e Question No. 60

Germination of seed while it still remains attached with the parent source

Options:

1. Ovipary
2. Apomixis
3. Vivipary
4. Asepsis

5.

Answer : Vivipary

e Question No. 61

“King of Fruits”iscalled _________

Options:

1. Mango
2. Guava
3. Apple
4. Citrus

5.

Answer : Mango
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e Question No. 62

Angle formed by attached of a branch to the trunk

Options:

1. Conn

2. Crown
3. Corona
4. Crotch

5.

Answer : Crotch

e Question No. 63

“King of Temperate Fruits” is called

Options:

1. Pear

2. Apple

3. Peach

4. Kiwi Fruit

5.

Answer : Apple

e Question No. 64

“Queen of Nuts” is called

Options:

1. Walnut
2. Almond

3. Peanut
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4. Date palm

5.

Answer : Peanut

e Question No. 65

“Pusa Nanha” dwarf variety of Papaya is developed through

Options:

1. Hybridization
2. Mutation
3. Selection
4. Heterosis

5.

Answer : Mutation

e Question No. 66

“King of Nuts” is called

Options:

1. Walnut

2. Aimond

3. Peanut

4. Date palm

5.

Answer : Walnut

e Question No. 67

Pusa Majestic is a variety of
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Options:

1. Papaya
2. Gauva
3. Mango
4. Citrus

5.

Answer : Papaya

e Question No. 68

“Fruit of the 21st century” is called

Options:

1. Jamun
2. Ber

3. Aonla
4. Bael

5.

Answer : Aonla

e Question No. 69

The fruit of banana is botanically a/an

Options:

1. Pepo
2. Berry
3.Pome
4. Drupe
5.

Answer : Berry
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e Question No. 70

Chromosome number of Mango

Options:
1.4x =40
2.2x =40
3.3x=40
4.x=40
5.

Answer : 2x = 40

e Question No. 71

Kinnow mandarin is a cross between King and

Options:

1. Acid lime
2. Willow leaf
3. Sweet lime
4. Pummelo

5.

Answer : Willow leaf

e Question No. 72

Pollination in Mango is mainly

Options:

1. House fly
2. Honey bees

3. Weevil
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4. Wind

Answer : House fly

e Question No. 73

Choke throat in banana is due to

Options:

1. High temperature
2. Low temperature
3. High humidity
4. Low humidity

5.

Answer : Low temperature

e Question No.74
Bitter pit in Apple is due to the deficiency of _________

Options:

1. Ca
2.7n
3. Mn
4.K

5.

Answer : Ca

e Question No. 75

Which fruit is commonly known as “Fruit of New World”
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Options:

1. Jackfruit

2. Passion fruit
3. Avocado

4. Mango

5.

Answer : Avocado

e Question No.76

Papaya is a native of

Options:

1. Asia

2. India

3. Brazil

4. Tropical America

5.

Answer : Tropical America

e Question No. 77

Which type of apomixes is found in apple?

Options:

1. Recurrent

2. Non-recurrent

3. Polyembryony

4. None of the above

5.

Answer : Recurrent
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e Question No.78
Cricket ball and Kalipatti are famous varietiesof _____

Options:

1. Ber

2. Mango
3. Sapota
4. Litchi

5.

Answer : Sapota

e Question No. 79

Seeds are sown immediately after extraction in which fruit

Options:

1. Citrus
2. Ber

3. Mango
4. Jamun

5.

Answer : Citrus

e Question No. 80

Caprification isdone in ____

Options:

1. Fig
2.Ber

3. Avacado
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4. Date palm

5.

Answer : Fig

e Question No. 81

Which one of the following is a climacteric fruit?

Options:

1. Fig

2. Citrus
3. Grape
4. Ber

5.

Answer : Fig

e Question No. 82

Man-made hybrid is

Options:

1. Pineapple

2. Strawberry
3. Pomegranate
4. Apple

5.

Answer : Strawberry

e Question No. 83

Vegetative propagation of date palm is through
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Options:

1. Runners
2. Suckers
3.Slips

4. Stolen

5.

Answer : Suckers

e Question No. 84

Cultivated strawberry is

Options:

1. Diploid
2. Octaploid
3. Hexaploid
4. Triploid

5.

Answer : Octaploid

e Question No. 85

Micro-propagation is common in multiplication of

Options:

1. Banana

2. Orchids

3. Strawberry

4. All of the above

5.

Answer : All of the above
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e Question No. 86

Which of the following system of training of grapes has highcost benefit ratio

Options:

1. Bower
2. Head

3. Kniffin
4. Trellis

5.

Answer : Bower

¢ Question No. 87
Most important disease of bananainIndiais _________

Options:

1. Sigatoka

2. Fusarium wilt
3. Bunchy top
4. Panama wilt

5.

Answer : Bunchy top

e Question No. 88

Deficiency of vitamin D cause?

Options:

1. Rickets
2. Osteomaiecia

3. Decalcification
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4, All the above

5.

Answer : All the above

e Question No. 89

Which of the following statements is true about Entomology?

Options:

1. The study of Birds

2. The study of Insects

3. The study of Microbes

4. The study of Parasitic worms

5.

Answer : The study of Insects

e Question No. 90

Which of the following is called the resting and inactive stage in the insect life cycle?

Options:

1. The Egg stage

2. The Larva stage
3. The pupa stage
4. The Adult stage

5.

Answer : The pupa stage

e Question No. 91

Which of the following are the characteristic features of an Insect?
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Options:

1. Pair of antennae
2. Three pairs of legs
3. Pair of wings

4. All of the above

5.

Answer : All of the above

e Question No. 92

Which of the following is not a natural predator of BPH?

Options:

1. Bugs

2. Red ants

3. Spiders

4. All of the above

5.

Answer : Red ants

e Question No. 93

Insects, which feed on one type of food, are called

Options:

1. Polyphagous

2. Monophagous

3. Entomophagy

4. None of the above

5.

Answer : Monophagous
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e Question No. 94

Which of the following statements is true for Entomophagy?

Options:

1. Refers to eating birds

2. Refers to eating insects
3. Refers to eating fishes
4. None of the above

5.

Answer : Refers to eating insects

e Question No. 95
Insects are classified into the phylum_______.

Options:

1. Nematoda

2. Mollusca

3. Arthropoda

4. Platyhelminthes

5.

Answer : Arthropoda

e Question No. 96

The total number of abdominal legs in the larval stage of the mustard sawfly is _

Options:

1. 2 pairs
2. 4 pairs

3.6 pairs
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4. 8 pairs

5.

Answer : 8 pairs

e Question No. 97
Which of the following insects is the carrier of grassy stunt pathogenic virus?
Options:

1. Red ants

2. Pink ants

3. Leafhoppers

4. All of the above

5.

Answer : Leafhoppers

e Question No. 98
Which of the following structures is not the part of the insect’s head capsule?
Options:

1. Vertex

2. Antennae
3. Pronotum
4. Tentorium

5.

Answer : Pronotum

e Question No. 99

The process of killing pupa without changing the cocoon shell layer is called
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Options:

1. Denier

2. Dupion
3. Hatching
4. Stifling

5.

Answer : Stifling

e Question No. 100

Which of the following is true about the immature scale insects?

Options:

1. Sliders

2. Crawlers

3. Gliders

4. None of the above

5.

Answer : Crawlers

e Question No. 101

A-W, B-X, C-Y and D-Z are four married couples. In a restaurant they are sitting around a rectangular table, with
three persons along each of the longer sides of the table and one person along each of the shorter sides. All the
male persons (A, B, C and D) are sitting along the longer sides and no the male persons are sitting together. X is
sitting to the right of C. W and Z are sitting at the longer sides and neither of them is sitting adjacent to their

respective husbands. Y is sitting to the right of A.

Which pair of people are sitting at the shorter sides of table?

Options:

1.XandY
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2.BandY
3.Xand C
4.7 and X

5.

Answer: X and Y

e Question No. 102

Study the following information car efully and answer the given questions:

(i) Six students P, Q, R, S, T and U are in different branches of Engineering, viz. Civil, Mechanical, Chemical, Electrical,

Metallurgy and Electronics but not necessarily in the same order.

(i) Each of them is a resident of a different city viz. Mumbai, Calcutta, Chennai, Delhi, Hyderabad and Bangalore. R is
the resident of Delhi but he is not in Chemical or Electrical. T, who is in Mechanical, is not the resident of Mumbai or
Hyderabad. Q is from Calcutta and he is in Electrical. The student from Chennai is in Electronics and S is from

Mumbai. P is in Metallurgy.

P is from which city?

Options:

1. Hyderabad

2. Calcutta

3. Chennai

4. Data inadequate

5.

Answer : Hyderabad

e Question No. 103

Pick out the different one:

Options:

1. Time
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2. Chain
3.Bangle
4. Bracelet

5.

Answer : Time

e Question No. 104

QPO, NML, KJI EDC

) —

Options:

1. HGF
2.CAB
3. JKL

4. GHI

5.

Answer : HGF

e Question No. 105

Sahil's father is the only son of Rohan's Father. How is Rohan's wife related to Sahil?

Options:

1. Mother

2. Grandmother
3. Aunt

4. Sister

5.

Answer : Mother

¢ Question No. 106
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RQP, ONM IHG, FED, find the missing letters

[ —

Options:

1. LKJ
2. LKI
3.BAC
4. CDE

5.

Answer : LKJ

Direction:

In each of the following questions a statement is given, followed by two conclusions. Give answer:

e Question No. 107

Statement: Market trends are changing continuously and with increasing competitiveness, the consumer's

demands with respect to the prices and quality are gradually increasing.

Assumptions:

l. The consumers did not care for the prices and quality earlier.

I. Market competitiveness is not favourable for the consumers.

Options:

1. Neither I nor Il is implicit

2. Only assumption Il is implicit
3. Either | or Il is implicit

4. Only assumption | is implicit

5.

Answer : Neither I nor Il is implicit

¢ Question No.108
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Statements:

l. The university officers have decided to conduct last examination every year in March/April in order to

announce the result at proper time.
Il. In past the result was declared late by the University due to the lack of number of examiners.
Options:

1. Statement Il is the cause and statement | is its effect.
2. Statement | is the cause and statement Il is its effect.
3. Both the statements | and Il are independent causes.
4. Both the statements | and Il are effects of independent causes.

5.

Answer : Statement Il is the cause and statement | is its effect.

Direction:
What will come in place of the question mark (?) in the following questions ?

e Question No. 109
(0.04)° x (02)* = (0.008)* = (0.2)°
Options:

1.8
2.7
3.6
4.5

5.

Answer: 8

e Question No. 110

625, 5,125, 25,25,7?,5
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Options:

1.125
2.25
3.625
4.95

5.

Answer : 125

e Question No. 111

The difference of two numbers is 1365. On dividing the larger number by the smaller, we get 6 as quotient and the

15 as remainder. What is the smaller number?
Options:

1.270
2.295
3.360
4.240

5.

Answer : 270

e Question No. 112

A trader has 3 kinds of Sugar, of the first kind 117 Kgs, of the second 130 Kgs and of the third kind 143 Kgs. The least

number of full casks of equal size in which this can be stored without mixing is ?
Options:

1.30
2.20
3.25

4.15



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Answer : 30

e Question No. 113

A trader buys some goods for Rs 150. If the overhead expenses be 12% of cost price, then at what price should it be

sold to earn 10% profit ?
Options:

1.184.8
2.185.2
3.185.8
4.188.8

5.

Answer :184.8

e Question No. 114

If (i) P is taller than Q, (ii) R is shorter than P, (iii) S is taller than T but shorter than Q, then who among them is the

tallest?
Options:

1P

2.Q
3.5
4.7

5.

Answer : P

e Question No. 115

A certain sum of money yields Rs.1261 as compound interest for 3 years at 5% per annum. Find the sum.
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Options:

1.8000
2.6000
3.4000
4.10000

5.

Answer : 8000

e Question No. 116
If 20% of an electricity bill is deducted, then Rs. 100 is still to be paid. How much was the original bill?
Options:

1. Rs.125
2.Rs115
3.Rs.120
4.Rs10

5.

Answer : Rs.125

e Question No. 117

If 97% of students are present in a class and 12 students are absent. Find total numbers of student in class?

Options:

1. 400
2.700
3.800
4.600

5.

Answer : 400
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e Question No. 118

Which one of the following apex co-operative organization at the national level of India?

Options:

1. RRBs
2.FCS
3. TRIFED
4. NAFED

5.

Answer : NAFED

e Question No. 119

The investment in Plant & Machinery up to which among the following amounts in India is called a Tiny Unit in

India?

Options:

1. Rs 5 Lakh
2.Rs 10 Lakh
3.Rs 15 Lakh
4. Rs. 25 Lakh

5.

Answer : Rs. 25 Lakh

e Question No. 120

In which year the Gem and Jewelry Export Promotion Council was set up?

Options:

1.1956

2.1966
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3.1976

4.1986

Answer : 1966

e Question No. 121

Terminal symbol in a flowchart Indicates

Options:

1. End

2. Processing

3. Input and Output
4. Decision

5.

Answer : End

e Question No. 122

Which of the following combination is /are example's of written communication?

Options:

1. Letters and voicemail
2. Reports and email

3. Circulars and voicemail
4. All the above

5.

Answer : Reports and email

e Question No. 123

Which organization is responsible for issuing UID?
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Options:

1. Election Commission
2. Planning Commission
3. Meity

4. UIDAI

5.

Answer : UIDAI

e Question No. 124

Golf player Vijay Singh belongs to which country?

Options:

1. USA
2. Fiji
3.India
4. UK

5.

Answer : Fiji

e Question No. 125

Nagpur Plan classifies roads in India into how many categories?

Options:

14
2.5
3.3
4.1

5.

Answer:5



https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

e Question No. 126

Where is the Central Food Technological Research Institute (CFTRI) situated?
Options:

1. Lucknow

2. Mysore

3. Agra

4. Bangalore

5.

Answer : Mysore

e Question No. 127

Placement of purchase order to supplier of materialis_________ communication.

Options:
1. Vertical communication
2. Horizontal communication
3. Internal communication

4. External communication

5.

Answer : External communication

e Question No. 128
A committee appointed in 1977 to review working of the Panchayti Raj was chaired by
Options:

1. Jagjivan Ram
2. Balwant Raj Mehta

3. Ashok Mehta
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4. KN. Katju

5.

Answer : Ashok Mehta

e Question No. 129
What is the tenure of the Panchayati Raj institution?
Options:

1. 6 years
2.5 years
3.4 years
4.3 years

5.

Answer : 5 years

e Question No.130
Who is the founder of Panchayat Raj?
Options:

1. Mahatma Gandhi
2. Jawahar lal Nehru
3. BR Ambedkar

4. Sardar Patel

5.

Answer : Jawahar lal Nehru

e Question No. 131

Which schedule was added to the constitution by the 73rd Constitutional Amendment?



https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

Options:

1. 6th
2.7th
3.9th
4. 1th

5.

Answer : 11th

e Question No.132

Appeals and representations are used in

Options:

1. grapevine

2. horizontal
3. upward

4. downward

5.

Answer : upward

e Question No.133

communication

_________ is a person registered with the Registrar and Authority who confirms the identity of a person who does

not have any valid POl and POA

Options:

1. Operator

2. Introducer

3. Enrolling agency
4. Agency

5.
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Answer : Introducer

e Question No. 134
The transfer of minerals from top soil to subsoil through soil wateris called______

Options:

1. Leaching

2. Respiration
3. Transpiration
4. Percolation

5.

Answer : Leaching

e Question No. 135

The powers and functions of Gram Sabha are conferred by the law of the state under which article?

Options:

1. Article 243C
2. Article 243A
3. Article 243G
4. Article 2431

5.

Answer : Article 243A

e Question No. 136

Following are the characteristics of an area in India:,

1. Hot and humid climate,

2. Annual rainfall 200 cm,
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3. Hill slopes up to an altitude of 1100 meters.

4. Annual range of temperature 15 degree C to 30 degree C

Which one among the following crops are you most likely to find in the area described above?

Options:

1. Mustard

2. Cotton

3. Pepper

4. Virginia tobacco

5.

Answer : Pepper

e Question No. 137

When was the Small and Marginal Farmers Development Programme launched?

Options:

1.1973
2.1969
3.1965
4.1971

5.

Answer : 1971

e Question No. 138
Horizontal communication flows through________

Options:

1. Face-to-face discussion

2. Telephonic talk
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3. Periodical meeting
4. All the above.

5.

Answer : All the above.

e Question No. 139

Which country is the top aluminum exporter in the world?

Options:

1. India

2. Russia
3. China
4. Canada

5.

Answer : China

e Question No. 140

Which Indian state produces the largest quantity of pulses?

Options:

1. Maharashtra

2. Uttar Pradesh

3. Madhya Pradesh
4. Rajasthan

5.

Answer : Madhya Pradesh

e Question No. 141

Under which climatic conditions do the late rite soils develop?
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Options:

1. Wet tropical Climate

2. Hot and dry Climate

3. Cold temperature Climate

4. Mediterranean type of Climate

5.

Answer : Wet tropical Climate

e Question No. 142

In the human body, what part is made of neither bones nor skin?

Options:

1.1/40

2.3/80

3.44683

4. None of these

5.

Answer : None of these
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